














































































EXAM PAPER 2023
LEVEL : PRIMARY 6
SCHOOL : RED SWASTIKA SCHOOL
SUBJECT : SCIENCE
TERM : PRELIMINARY EXAMINATIONS

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10

2 2 3 1 2 4 3 2 1 1

Q11 Q12 Q13 Q14 Q15 Q16 Q17 Q18 Q19 Q20

3 4 3 1 1 3 4 4 2 1

Q21 Q22 Q23 Q24 Q25 Q26 Q27 Q28

4 2 1 2 2 1 3 2

29 a) (i) can it be fruits?
(ii) Y . Birds

Z. Mammals

b) (i) This ensures that the change
(ii) Little mould. The heated cake would soon lose heat to the cooler surroundings
at room temperature. Since there was still moisture in the air trapped in the new
air tight jar, mould would soon grow on the cake and survive.



34 a) (i) Structure Adaptation: It has strong fins to move on land
(ii) L buries itself below the wet part of the shore

b) It makes it easier for L to find and eat its prey since it is on the shore. With more
food to eat, L’s survival rate increases. The shore acts as protection against L’s
predator. When L is in water, it just needs to go up onto the shore. This prevents
predators of L to eat, increasing its survival rate so the population increase.

c) L’s gill needs water to work. By keeping it moist, gaseous exchange can occur,
allowing L to stay on land for a short time of carbon dioxide for oxygen.

35 a) “A” and “B” must be electrical conductors and allow electricity current to flow
through.

b) The light bulb and alarm are arranged in parallel arrangement with the battery.

c) When temperature is 80℃, the metal rod expands quickly as it is a good
conductor of heat when gained heat from oven wall and comes in contact with
contacts A. A is an electrical conductor, allowing electrical current to flow through.
It was a closed circuit of battery and light bulb as there was gaps, causing light
bulb to light up. But when temperature increases to 300, the second metal rod
gains heat from the hot oven wall and expands coming in contact with contact B
which were electrical conductors too. It was a closed circuit and electrical current
flows through light bulb and alarm at same time. Thus alarm and light bulb will
work at the same time.

39 a) Gravitational Potential Energy → Kinetic energy + thermal energy
b) Make the point A at a higher position by adjusting the adjustable clamp to a higher

position



c) Gravitational potential energy of ball was converted to kinetic energy, heat and
sound energy when rolling down the flexible plastic track. Since some kinetic
energy was converted to heat and sound energy, the ball did not have enough
kinetic energy to be converted to the same gravitational potential energy at A.
Thus the ball could not reach D.

40 a) Temperature is the measure of hotness or coldness expressed in terms of any
several scales.

b) The water in A and B both lost heat to the cooler surroundings at room
temperature. Thus both A and B decreased to same temperature.

c) By pouring milo into two equally cups, the milo had a greater exposed surface
area in contact with the cooler surroundings at room temperature. The milo lost
more heat to the cooler surroundings at a faster rate and decreased faster. This
allow Sammy to drink his milo in a shorter time.


